Svenska Bridgeférbundet
IAF Allsvenskan, division 2, 8:1 2016-08-27

IMP over faltet, 48 bord, 96 par. Antal brickor: 12.

Plac

Par

Poang

3.62
3.60
3.18
3.01
2.47
2.45
1.93
1.89
1.68
1.60
1.45
1.37
1.32
1.26
1.20
1.16
1.16
1.13
111
1.09
0.94
0.93
0.90
0.90
0.83
0.82
0.82
0.79
0.78
0.77
0.75
0.74
0.71
0.62
0.59
0.56
0.47
0.47
0.46
0.45
0.45
0.43
0.42
0.41
0.28
0.15
0.13
0.05
-0.05
-0.13
-0.15
-0.28
-0.41
-0.42
-0.43
-0.45
-0.45
-0.46
-0.47
-0.47
-0.56
-0.59
-0.62
-0.71
-0.74
-0.75
-0.77
-0.78
-0.79
-0.82
-0.82
-0.83
-0.90
-0.90
-0.93
-0.94
-1.09
-1.11
-1.13
-1.16
-1.16
-1.20
-1.26
-1.32
-1.37

Namn

Peder Olrog - Torbjérn Gustavsson
Lena Johansson - Leif Johansson
Thomas Karlsson - Morgan Svensson
Patrik Rimstedt - Henrik Noberius
Hakan Straaf - Mats Sjoberg
Bengt-Erik Efraimsson - Anna Zack Efraimsson
Kristoffer Hegge - Hakan Kippe

Leif Axelsson - Fredrik Axelsson

Per Jansson - Mikael Westerlund
Andreas Konyves - Lars Nilsson
Hans Olsson - Bengt Palsson
Sven-Owe Andersson - Hans Vestergren
Olof Bergstrom - Jan-Erik Thomasson
Lars Olsson - Borje Liljekvist

Bjorn Sorling - Bo Roos

Ronny Ovesson Ejnell - Jan-Erik Asmo
Per Ostlund - Robert Back

Torbjorn Sandback - Par Unander
Mats Axdorph - Anders Morath
Harald Sjéman - Ingvar Grahn

Pontus Karlsson - Torbjérn Olsson
Daniel Sivelind - Jonas Engstrém
Kenneth Wallin - Pasi Kallio

Olle Sandstrom - Jonas Gustafsson
Bjorn Sanzén - Peter Billgren

Borje Rudenstal - Johan Nilsson
Kathrine Bertheau - Matias Rohrberg
Peter Olofsson - Bjorn Ohlsson

Robin Bjorkstrand - Erik Fryklund

Leif Lysebring - Johan Goéransson
Gunnar Sjokvist - Per Bretz

Maria Gronkvist - Catharina Ahlesved
Simon Hult - Ida Gronkvist

Hakan Johansson - Stefan Jonsson
Kjell Karlsson - Tommi Ramstedt
Tomas Andgren - Per Sjoberg

Urban Finnsson - Pierre Thunstrém
Pér Ljungquist - Billmar Carlsson
Niclas Samuelsson - Roger Nyman
Lars-Goran Ostlund - Jan Fransson
Tomas Linder - Lars Ornberg

Kalle Prorok - Mikael Hjerm

Simon Granath - Erik Ahlgren

Niclas Johansson - Géran Linerudt
Bjorn Wenneberg - Lars Andersson
Peter Johansson - Mats Hall

Asa Axne - Pernilla Nas

Johan B. Lisra - Morgan Antonsson
Ola Stavas - Jesper Tornlund

Marten Gustawsson - PO Sundelin
Kenneth Meijneken - Joachim Borgel
Petter Bengtsson - Leif Lundberg

Leif Ruthstrém - Alexander Sandin
Bjorn Forsberg - Krister Berg

Gunnar Andersson - Peter Gérnandt
Carina Sjoblom - Lennart Bylund
Anders Blomqyvist - Lars Manneteg
Ingemar Assarsjo - Peter Norrhede
UIf Sjélinder - Alf Kummer

Leif Trapp - Gunnar Elmroth

Tommy Svensson - Leif Andréasson
Peter Ventura - Jesper Rundin
Jorgen Neldemo - Jan-Erik Helmersson
Catarina Midskog - Anna Roos
Magnus Ekman - Peter Carlsson
Torgny Carlsson - Jan Enarsson

Lars Lundqvist - Lars-Inge Rehnstrom
Tommy Petersson - Fredrik Mirhag
Perry Sjéberg - Jan Gutenwik
Per-Arne Karlsson - John-Erik Hornfeldt
Thomas Brehmer - Johan Gronkvist
Jan Frode Karlsen - Ole Marius Myrvold
Helena Stromberg - Dan Bylund
Sanna Clementsson - Klas Bellander
Pé&r Andersson - Lennart Fredriksson
Anders Erikson - Ylva Pyykko
Rasmus Gréberg - Jonas Hogedal
Peter Knudsen - Johnny Ivarsson
Tommy Westman - Mattias Weiler
Henrik Fryklund - Bo Lindbergh

Orjan Sj6berg - Per Schullstrom
Mikael Danielsson - Conny Johansson
Lars Ericson - Bo Ericson

Rune Johansson - Géran Magnusson
Jan Brannvall - Hans Lerner
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9180
15309
8958
8899
1161
127
62734
1706
2485
4590
13278
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1200
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2489
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70
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5900
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30309
10391
10488
1076
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12954
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13363
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14003

MID

1255
18448
6177
79008
1198
4049
62733
93699
9690
50311
6272
33345
1304
2874
13691
2970
11174
12980
4664
5064
12371
11389
4029
2414
4458
13918
52703
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6915
894
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31083
13697
51783
2494
17974
1935
7522
12537
14186
82732
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15037
5351
148
10428
8076
804
1171
4050
20271
41730
9747
9039
8234
2944
2488
13364
8335
7519
80778
4243
4289
11594
4272
6717
15818
6302
4866
8342
47699
8223
4541
9424
50062
29993
11016
11482
7416
28089
1787
2962
1123
166




86 F303 -1.45 Carsten Kofoed - Ingemar Andersson 5868 5871
87 E2 -1.60 Johnny Petersson - Sven-Anders Eskilsson 10420 14182
88 A206 -1.68 Jim Albertsson - Rolf Back 3924 8794
89 B302 -1.89 Jorgen Lantz - Ricky Johansson 1612 14425
20 E6 -1.93 Fredrik Jarlvik - Rolf Bengtsson 4451 4614
91 H101 -2.45 Gunnar Lindell - Per Lindstrém 16249 15223
92 F301 -2.47 Inge Magnusson - Leif Johansson 7398 945
93 A5 -3.01 Thomas Johansson - Mark Strandell 18680 18681
94 C1l -3.18 Berith Finnsson - Thord Lindberg 12506 5302
95 A202 -3.60 Carl Ek - Ann-Sofie Axelsson 5294 1818
96 C4 -3.62 Valter Johansson - Peder Linder 6210 18079
1 oK Basta kontrakt 2 4 EKn5 Basta kontrakt 3 4 K975 Basta kontrakt
Nord v Kn942 3NT N =400 Ost v98 4v O =-420 Syd vD72 6¢ V =-1370
Ingen + D97 NS + Kn92 ov + 10865
#EKKNn63 & ¢ v & NT #ED1095 & ¢ v & NT #103 & ¢ v & NT
« DKn10853 49 N 9 106 8 9 D97 4643 N9 2363 s E42 4« Kn108 N1O0431
vD1065 v EK83 S 9 106 8 9 vKKn6 vE75432 S9136 3 vK v EKn43 S10431
2 ¢ K653 033754 ¢+ D654 ¢ EK108 O 3 10104 4 +D4 ¢ EK932 O 11129 1011
&54 D872 V33754 #832  &- V 3 10104 4 #ED97642 &5 V 11129 1011
4 E7642 & K1082 4 D63
v7 vD10 v 109865
+ EKn1084 +73 ¢ Kn7
«109 *#KKn764 #KKn8
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
H104 H304 34DV -4#A 800 545.0 -545.0 |B105 B305 5vD O-1#4 100 454.0 -454.0| A1 A201 3NV= &7 -600 56.0 -56.0
G4 G204 24D S= 4Q 470 322.0 -322.0 |H105 H305 44 S-1 vK -100 279.0 -279.0( E1 E201 3NO= 45 -600 56.0 -56.0
F106 F306 24D S= ¢2 470 322.0 -322.0| E1 E201 3¢ O+2 #6 -150 229.0-229.0 E2 E202 3NV= 44 -600 56.0 -56.0
C2 C202 3NN+2 49 460 317.0 -317.0| G1 G201 2v V+2 v9 -170 183.0-183.0( G2 G202 3NO= ¢T -600 56.0 -56.0
C6 C206 3NN+2 3 460 317.0 -317.0| C2 C202 2v O+2 ¢7 -170 183.0-183.0| E3 E203 3NO= 43 -600 56.0 -56.0
C3 C203 3NN+1 #7 430 288.0 -288.0| E2 E202 2v O+2 42 -170 183.0 -183.0| A4 A204 3NO= v9 -600 56.0 -56.0
G3 G203 3NN+1 vA 430 288.0 -288.0| E4 E204 3v O+1 #2 -170 183.0-183.0( G4 G204 3NO= ¢T -600 56.0 -56.0
A6 A206 3NN +1 vK 430 288.0 -288.0| C5 C205 2v O+2 ¢7 -170 183.0 -183.0| A5 A205 3NV= 47 -600 56.0 -56.0
Al A201 3NN= 49 400 259.0 -259.0 | G6 G206 2v O+2 ¢7 -170 183.0-183.0| C5 C205 3NV= 47 -600 56.0 -56.0
C1 C201 3NN= 49 400 259.0 -259.0 [F101 F301 2v O +2 #4 -170 183.0 -183.0| E5 E205 3NV= 45 -600 56.0 -56.0
G1 G201 3NS= 4Q 400 259.0 -259.0 ([B102 B302 3v O+1 ¢7 -170 183.0-183.0| C6 C206 3NV= 45 -600 56.0 -56.0
A2 A202 3NN= vA 400 259.0 -259.0 |[F102 F302 3v O+1 7 -170 183.0-183.0( G6 G206 3NO= 43 -600 56.0 -56.0
F102 F302 3NS= #J 400 259.0 -259.0 ([B104 B304 2v O +2 42 -170 183.0 -183.0 [F101 F301 3NV= 47 -600 56.0 -56.0
D103 D303 3NN= vA 400 259.0 -259.0 (D104 D304 3v O +1 #5 -170 183.0 -183.0 (B102 B302 3NO= 43 -600 56.0 -56.0
D104 D304 5# N= vA 400 259.0 -259.0 (D105 D305 3v O+1 ¢7 -170 183.0 -183.0 (D102 D302 5¢ O= 43 -600 56.0 -56.0
B105 B305 3NN= 49 400 259.0 -259.0 [D106 D306 2v O +2 48 -170 183.0 -183.0 (D104 D304 3NO= 43 -600 56.0 -56.0
E6 E206 3¢ S+2 v6 150 9.0 -9.0| Al A201 4y O= #4 -420 -103.0 103.0 |F104 F304 3NV= &5 -600 56.0 -56.0
D106 D306 2¢ S+3 ¢2 150 9.0 -9.0( C1C201 4v O= »6 -420 -103.0 103.0 ([B105 B305 3NV= 47 -600 56.0 -56.0
A5 A205 34 N+1 #7 130 -13.0 13.0( A2 A202 4v O= &4 -420 -103.0 103.0 [H105 H305 3NO= T -600 56.0 -56.0
G6 G206 34 N+1 49 130 -13.0 13.0| G2 G202 4y O= +¢7 -420 -103.0 103.0|B106 B306 3NO= &5 -600 56.0 -56.0
D102 D302 3# N+1 vA 130 -13.0 13.0( A3 A203 4v O= 7 -420 -103.0 103.0 [F106 F306 3NV= 47 -600 56.0 -56.0
F103 F303 34 N+1 vA 130 -13.0 130 C3 C203 4vy O= &4 -420 -103.0 103.0( G1 G201 3NO+1 vT -630 8.0 -80
D105 D305 3¢ S+1 v6 130 -13.0 13.0( E3 E203 4v O= ¢2 -420 -103.0 103.0| A2 A202 3NV +1 v2 -630 8.0 -8.0
A3 A203 34 N= &2 110 -42.0 420 G3 G203 4v O= ¢7 -420 -103.0 103.0f C3 C203 3NV +1 ¢6 -630 8.0 -8.0
A4 A204 3« N= 49 110 -42.0 420 A4 A204 4v O= 42 -420 -103.0 103.0| C4 C204 3NV +1 47 -630 8.0 -80
F101 F301 24 S= ¢5 110 -42.0 42.0| C4 C204 4v Q= 7 -420 -103.0 103.0| A6 A206 3NO+1 vT -630 8.0 -8.0
H101 H301 24 S= +2 110 -42.0 420 G4 G204 4v O= #4 -420 -103.0 103.0 (D101 D301 3NO+1 vT -630 8.0 -8.0
B103 B303 24 N= ¢2 110 -42.0 42.0| A5 A205 4v O= +¢7 -420 -103.0 103.0 [H102 H302 3NV +1 47 -630 8.0 -80
H103 H303 3¢ S= v6 110 -42.0 42.0| E5 E205 4vy O= 48 -420 -103.0 103.0 ([B103 B303 3NV +1 45 -630 8.0 -8.0
B106 B306 3# N= vA 110 -42.0 42.0| G5 G205 4v O= 48 -420 -103.0 103.0 ([F103 F303 3NO+1 vT -630 8.0 -8.0
E5 E205 3v O-2 #T 100 -49.0 49.0| A6 A206 4y O= ¢7 -420 -103.0 103.0 [D105 D305 3NV +1 45 -630 8.0 -80
D101 D301 24 V-2 &K 100 -49.0 49.0| C6 C206 4y O= #4 -420 -103.0 103.0 [F105 F305 3NO+1 v6 -630 8.0 -80
H106 H306 34 V-2 &#A 100 -49.0 49.0 E6 E206 4v O= &3 -420 -103.0 103.0| C2 C202 3NO+2 ¢J -660 -39.0 39.0
G2 G202 2 N= 49 90 -58.0 58.0|B101 B301 4y O= &6 -420 -103.0 103.0| A3 A203 3NO+2 ¢T -660 -39.0 39.0
H105 H305 2# N= 49 90 -58.0 58.0|D101 D301 4y O= ¢2 -420 -103.0 103.0| G3 G203 3NO+2 ¢J -660 -39.0 39.0
E4 E204 3NN-1 #2 -50 -204.0 204.0 [H101 H301 4v O= 48 -420 -103.0 103.0( E4 E204 3NO+2 vT -660 -39.0 39.0
B104 B304 54 N-1 vA -50 -204.0 204.0 (D102 D302 4v O= &2 -420 -103.0 103.0| G5 G205 3NO+2 vT -660 -39.0 39.0
E1 E201 3# N-2 49 -100 -255.0 255.0 |H102 H302 4y O= 48 -420 -103.0 103.0| E6 E206 3NV +2 46 -660 -39.0 39.0
E3 E203 3¢ S-2 +2 -100 -255.0 255.0 (B103 B303 4v O= &5 -420 -103.0 103.0 (B101 B301 3NV +2 45 -660 -39.0 39.0
C5 C205 54 N-2 vA -100 -255.0 255.0 (D103 D303 4y O= &4 -420 -103.0 103.0 [H101 H301 3NO+2 v8 -660 -39.0 39.0
G5 G205 44 N-2 49 -100 -255.0 255.0 [F103 F303 4v O= 7 -420 -103.0 103.0 |F102 F302 3NO+2 vT -660 -39.0 39.0
H102 H302 4¢ S-2 4Q -100 -255.0 255.0 |H103 H303 4v O= &4 -420 -103.0 103.0 |H103 H303 3NO+2 ¢T -660 -39.0 39.0
B102 B302 2y V= &A -110 -263.0 263.0 ([F104 F304 4v O= 7 -420 -103.0 103.0 [H104 H304 3NO+2 v5 -660 -39.0 39.0
E2 E202 44DS-2v6 -300 -413.0 413.0 |H104 H304 4y O= 7 -420 -103.0 103.0 |D106 D306 3NO+2 ¢T -660 -39.0 39.0
C4 C204 54DN-2vA -300 -413.0 413.0 [F105 F305 4y O= ¢7 -420 -103.0 103.0 [H106 H306 3NO+2 v5 -660 -39.0 39.0
B101 B301 5¢DS-2v6 -300 -413.0 413.0 ([B106 B306 4v O= ¥2 -420 -103.0 103.0 [D103 D303 3NV +3 47 -690 -86.0 86.0
F104 F304 5¢DS-2v6 -300 -413.0 413.0 [H106 H306 4y O= 7 -420 -103.0 103.0 |B104 B304 3NV +3 45 -690 -86.0 86.0
F105 F305 3vyDV= v4 -530 -557.0 557.0 |[F106 F306 4v O +1 48 -450 -148.0 148.0| C1 C201 6# V= «&T -1370 -585.0 585.0
4 432 Basta kontrakt 5 4 KKn73 Basta kontrakt 6 «ED9 Basta kontrakt
Vast v EK764 74V =-2210 Nord v E862 34 N =140 Ost vKn1098 34 S =140
Alla 4973 NS +D4 ov + 986
#1042 & ¢ v & NT #K102 & ¢ v & NT #1064 & ¢ v & NT
« EK10987 4 D6 N20500 4E1085 #4 N56 89 8 aKKn4 42 N3 47965
v- v D952 S20500 v1075 43 S56898 vK76  v532 S34795
¢ E8652 ¢+ KD4 O 11138 1311 ¢ EK73 ¢ Kn1085 087 335 ¢E43 ¢ KD1072 09 96 35
&D5 »EK76 V 11138 1311 D4 #987653 V87 335 D872 #KKn53 V9 96 36
4 Kn54 4 D962 41087653
vKn1083 v KDKn9 vED4
+ Knl0 4962 ¢ Kn5
#Kno83 #EKn &E9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
A6 A206 5¢ V+2 ¢3 -640 403.0 -403.0( C3 C203 4vyDS= ¢A 790 436.0 -436.0 |B102 B302 24 S+2 &7 170 144.0 -144.0
B101 B301 3NO+3 ¢T -690 367.0 -367.0| A5 A205 4y N+1 44 650 333.0 -333.0| C2 C202 24 S+1 #K 140 97.0 -97.0
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B105 B305 3NO+3 vJ -690 367.0 -367.0 [H102 H302 4v N+1 «4 650 333.0 -333.0| C3 C203 24 S+1 &5 140 97.0 -97.0
A2 A202 44 V+3 vA -710 347.0 -347.0 [H106 H306 3NS+1 5 630 299.0 -299.0 | E3 E203 34 S= &7 140 97.0 -97.0
G2 G202 44 V+3 vA -710 347.0 -347.0| C1 C201 4v S= +A 620 296.0 -296.0 (B103 B303 34 S= &7 140 97.0 -97.0
A3 A203 44 V+3 vA -710 347.0-347.0( G1 G201 4v S= +A 620 296.0 -296.0 |F105 F305 24 S+1 &7 140 97.0 -97.0
E3 E203 54 O+2 vA -710 347.0 -347.0| A2 A202 4v S= +A 620 296.0 -296.0 |F106 F306 24 S+1 #2 140 97.0 -97.0
A4 A204 44 V+3 vK -710 347.0-347.0( C2 C202 4v S= ¢A 620 296.0 -296.0 | Al A201 24 S= &7 110 50.0 -50.0

D101 D301 44 V+3 vA -710 347.0 -347.0| G2 G202 4y S= +A 620 296.0 -296.0 | E1 E201 24 S= &7 110 50.0 -50.0

F101 F301 44 V+3 vK -710 347.0 -347.0| G3 G203 4v S= +¢A 620 296.0 -296.0 | G1 G201 24 S= #7 110 50.0 -50.0

H102 H302 44 V+3 vA -710 347.0 -347.0| E5 E205 4v S= +¢A 620 296.0 -296.0 | A2 A202 24 S= &7 110 50.0 -50.0

F103 F303 44 V+3 42 -710 347.0 -347.0| A6 A206 4v S= v5 620 296.0 -296.0 | E2 E202 24 S= &7 110 50.0 -50.0

D104 D304 44 V+3 vA -710 347.0 -347.0| C6 C206 4y N= 43 620 296.0 -296.0 | G2 G202 24 S= #7 110 50.0 -50.0

F104 F304 44 V+3 vA -710 347.0 -347.0| E6 E206 4v N= 44 620 296.0 -296.0 | A3 A203 24 S= &7 110 50.0 -50.0

H104 H304 44 V+3 vA -710 347.0 -347.0|B101 B301 4y S= +A 620 296.0 -296.0 | G3 G203 24 S= &7 110 50.0 -50.0

D105 D305 44 V+3 vA -710 347.0 -347.0|B102 B302 4y S= +¢A 620 296.0 -296.0 | A4 A204 24 S= #7 110 50.0 -50.0

F105 F305 44 O+3 vA -710 347.0 -347.0 (D102 D302 4v S= +¢A 620 296.0 -296.0| C4 C204 24 S= &7 110 50.0 -50.0

H106 H306 44 V+3 vA -710 347.0 -347.0 |F103 F303 4y S= +¢A 620 296.0 -296.0 | E4 E204 24 S= &2 110 50.0 -50.0
G3 G203 3NO+4 ¢J -720 332.0 -332.0 |F105 F305 4y S= +A 620 296.0 -296.0| C5 C205 24 S= v6 110 50.0 -50.0
G4 G204 3NO+4 vT -720 332.0 -332.0|B106 B306 4v S= 5 620 296.0 -296.0| G5 G205 24 S= &7 110 50.0 -50.0

D102 D302 3N O +4 #2 -720 332.0 -332.0|D106 D306 4y S= +¢A 620 296.0 -296.0 | A6 A206 24 S= &2 110 50.0 -50.0
G1 G201 6¢ V+1 vK -1390 -186.0 186.0| E4 E204 3NS= 43 600 274.0 -274.0| C6 C206 24 S= &7 110 50.0 -50.0
C4 C204 6¢ V+1 vA -1390 -186.0 186.0( E1 E201 54D O -3vK 500 210.0 -210.0| G6 G206 24 S= 6 110 50.0 -50.0
C5 C205 64 V+1 vA -1390 -186.0 186.0 [F101 F301 5#D O -3vK 500 210.0 -210.0 |B101 B301 24 S= &7 110 50.0 -50.0
G5 G205 6¢ V+1 vA -1390 -186.0 186.0 |[F104 F304 5¢DV-2vA 300 42.0 -42.0|F101 F301 24 S= #3 110 50.0 -50.0
C6 C206 64 V+1 vK -1390 -186.0 186.0 Al A201 4v S-1 ¢A -100 -264.0 264.0 D102 D302 24 S= &7 110 50.0 -50.0

H101 H301 6¢ V+1 ¢3 -1390 -186.0 186.0| A3 A203 3NS-1 43 -100 -264.0 264.0 [F102 F302 24 S= 2 110 50.0 -50.0

B103 B303 6¢ O+1 vK -1390 -186.0 186.0| A4 A204 4v N-1 4 -100 -264.0 264.0 |D103 D303 24 S= &7 110 50.0 -50.0

D103 D303 64 V+1 vK -1390 -186.0 186.0| C4 C204 4y N-1 44 -100 -264.0 264.0 [F103 F303 24 S= 7 110 50.0 -50.0

H105 H305 6¢ V+1 vA -1390 -186.0 186.0| G4 G204 4y N-1 44 -100 -264.0 264.0 [H103 H303 24 S= &7 110 50.0 -50.0

F106 F306 6¢ V+1 vA -1390 -186.0 186.0 C5 C205 4v N-1 4 -100 -264.0 264.0 (B104 B304 24 S= &2 110 50.0 -50.0
Al A201 64 V+1 vA -1460 -253.0 253.0( G6 G206 3NS-1 ¥5 -100 -264.0 264.0 (D104 D304 24 S= &7 110 50.0 -50.0
C2 C202 64 V+1 vA -1460 -253.0 253.0 [F102 F302 4v S-1 ¢K -100 -264.0 264.0 |[F104 F304 24 S= &6 110 50.0 -50.0
E2 E202 64 O+1 vK -1460 -253.0 253.0 ([B103 B303 4v N-1 44 -100 -264.0 264.0 [H104 H304 24 S= &7 110 50.0 -50.0
C3 C203 64 V+1 vA -1460 -253.0 253.0 [D103 D303 4y N-1 44 -100 -264.0 264.0 (D105 D305 24 S= &7 110 50.0 -50.0
E4 E204 64 V+1 vK -1460 -253.0 253.0 D105 D305 3NS-1 ¢K -100 -264.0 264.0 [H105 H305 24 S= v6 110 50.0 -50.0
A5 A205 64 V+1 vA -1460 -253.0 253.0 [H105 H305 4v N-1 #4 -100 -264.0 2640| G4 G204 24 S-1 «7 -50 -139.0 139.0
E5 E205 64 V+1 vA -1460 -253.0 253.0 [F106 F306 4v S-1 ¢A -100 -264.0 2640 E5 E205 34 S-1 #7 -50 -139.0 139.0
G6 G206 64 V+1 vA -1460 -253.0 253.0| E2 E202 4v N-2 «4 -200 -354.0 354.0| EG6 E206 34 S-1 &7 -50 -139.0 139.0

B102 B302 64 V+1 vA -1460 -253.0 253.0| E3 E203 4v N-2 4 -200 -354.0 354.0|D101 D301 34 S-1 v6 -50 -139.0 139.0

F102 F302 64 V+1 vA -1460 -253.0 253.0| G5 G205 4v N-2 4 -200 -354.0 354.0 |H101 H301 34 S-1 ¢A -50 -139.0 139.0

H103 H303 64 V+1 43 -1460 -253.0 253.0 |D101 D301 4v N-2 43 -200 -354.0 354.0 [H102 H302 34 S-1 ¢3 -50 -139.0 139.0

B104 B304 64 V+1 vK -1460 -253.0 253.0 [H101 H301 44 S-2 A -200 -354.0 354.0|B105 B305 34 S-1 #7 -50 -139.0 139.0

B106 B306 64 V+1 vA -1460 -253.0 253.0 (B104 B304 4y N-2 44 -200 -354.0 354.0 [B106 B306 34 S-1 &7 -50 -139.0 139.0

D106 D306 64 V+1 vA -1460 -253.0 253.0 |D104 D304 4y N-2 #4 -200 -354.0 354.0 |[D106 D306 44 S-1 &7 -50 -139.0 139.0
C1 C201 7¢ V= vA -2140 -633.0 633.0 ([H104 H304 4v N-2 #4 -200 -354.0 354.0 [H106 H306 34 S-1 #7 -50 -139.0 139.0
E6 E206 7¢ V= vA -2140 -633.0 633.0 ([B105 B305 4v N-2 44 -200 -354.0 354.0( A5 A205 3#V= vJ -110 -226.0 226.0
E1l E201 74 V= vK -2210 -670.0 670.0 |[H103 H303 4vDN-244 -500 -551.0 551.0| C1 C201 3NV +1 #A -630 -560.0 560.0

7 472 Basta kontrakt 8 « D832 Basta kontrakt 9 » Kn986 Basta kontrakt

Syd vE 2NT S =120 Vast v K3 6NT V =-990 Nord v K754 34 O =-140

Alla ¢ KDKn52 Ingen + D874 ov + 10753

#D9832 & ¢ v & NT #1063 & ¢ v & NT *2 & ¢ v & NT
» 84 » EKG5 N887 838 «EK 4Kn107654 N 2 4 1 1 1 4 EKD52 107 N7 3344
v 10872 v9653 S887 88 v DKn7 v E10986 S$24111 vEG3 v 10982 S73344
¢E873 4964 055545 ¢ EK2 ¢53 O 119 121212 ¢ E42 + K986 0699938
#E104 #Kn5 V55545 #EDKN95 - V 119 121212 *E4 983 V69998
4 DKn1093 49 443
v KDKn4 v 542 v DKn
+10 ¢ Kn1096 ¢ DKn
*K76 #K8742 #KDKn10765
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
C6 C206 3N S+2 #A 660 425.0 -425.0 | E3 E203 6v O-1 v2 50 540.0 -540.0 (D105 D305 5¢ O -3 #K 300 405.0 -405.0
E2 E202 3NN+1 46 630 380.0 -380.0| E5 E205 74 V-1 #3 50 540.0 -540.0 |F103 F303 3NV-2 &2 200 316.0 -316.0
C3 C203 3NS+1 v7 630 380.0 -380.0| G6 G206 6y V-1 ¢7 50 540.0 -540.0 |D104 D304 4y O -2 #K 200 316.0 -316.0
G3 G203 3NN+1 v5 630 380.0 -380.0 [F103 F303 6NV -1 ¢7 50 540.0 -540.0 | Al A201 4 V-1 #2 100 211.0 -211.0
C5 C205 3NN+1 v4 630 380.0 -380.0 |[B105 B305 6v V-1 ¢7 50 540.0 -540.0 | E1 E201 4« V-1 &2 100 211.0 -211.0

F101 F301 3NN+1 #T 630 380.0 -380.0 |[H105 H305 6y V-1 ¢7 50 540.0 -540.0 | G1 G201 34 V-1 #2 100 211.0 -211.0
C1 C201 3NN= 9 600 361.0 -361.0 E4 E204 4y O+1 ¢J -450 232.0-232.0( A2 A202 4y O-1 &K 100 211.0 -211.0
A2 A202 3NN= &6 600 361.0 -361.0 |H102 H302 4y V+1 ¢7 -450 232.0-232.0( C2 C202 3NV-1 2 100 211.0 -211.0
G5 G205 3NN= &6 600 361.0 -361.0 |B104 B304 4NV +1 ¢4 -460 232.0-232.0( E3 E203 3NV-1 2 100 211.0 -211.0
A6 A206 3NN= «J 600 361.0 -361.0 |H106 H306 4NV +1 ¢7 -460 232.0-232.0( A4 A204 44 V-1 #2 100 211.0 -211.0

D101 D301 3NN= v6 600 361.0 -361.0| Al A201 4 V+2 #3 -480 216.0-216.0( G4 G204 3NV-1 2 100 211.0 -211.0

B102 B302 3NN= &5 600 361.0 -361.0 | A2 A202 44 O+2 ¢J -480 216.0-216.0 ES5 E205 4« V-1 &2 100 211.0 -211.0

H103 H303 3NN= &5 600 361.0 -361.0 | A4 A204 44 V+2 #6 -480 216.0-216.0( C6 C206 3NV-1 2 100 211.0 -211.0

B104 B304 3NN= &5 600 361.0 -361.0| G5 G205 44 O+2 ¢J -480 216.0-216.0|( E6 E206 4« V-1 &2 100 211.0 -211.0

F104 F304 3NN= 46 600 361.0 -361.0 |F101 F301 44 O+2 ¢J -480 216.0-216.0|( G6 G206 4« V-1 2 100 211.0 -211.0

H104 H304 3NN= 3 600 361.0 -361.0 |[B102 B302 44 O+2 ¢J -480 216.0 -216.0 ([F101 F301 3NV-1 %2 100 211.0 -211.0

B106 B306 3NS= 7 600 361.0 -361.0 |D102 D302 44 V+2 ¢7 -480 216.0 -216.0 [F102 F302 4¢ O-1 K 100 211.0 -211.0
G1 G201 2N N+2 &5 180 48.0 -48.0|D103 D303 44 O+2 ¢J -480 216.0 -216.0 (B103 B303 3NV-1 2 100 211.0 -211.0
C2 C202 2NN= v6 120 -2.0 2.0 (H103 H303 4v O+2 ¢J -480 216.0 -216.0|B104 B304 3NV -1 #2 100 211.0 -211.0
Al A201 3NN-1 #J -100 -215.0 215.0|D101 D301 3NV +3 46 -490 192.0-192.0| E4 E204 24 V= &2 -110 50 -5.0
E1 E201 3NS-1 v7 -100 -215.0 215.0 [H101 H301 4NV +2 #3 -490 192.0 -192.0| A5 A205 24 V= &2 -110 50 -5.0
G2 G202 3NN-1 #J -100 -215.0 215.0 |F105 F305 4NV +2 4«2 -490 192.0-192.0| C5 C205 24 V= &2 -110 50 -50
A3 A203 3NN-1 «J -100 -2150 2150| C1 C201 64 O= ¢J -980 -256.0 256.0| G5 G205 24 V= &2 -110 50 -5.0
E3 E203 3¢ N-1 #J -100 -215.0 215.0| E1 E201 6v V= &9 -980 -256.0 256.0 (B102 B302 24 V= &2 -110 50 -5.0
A4 A204 44 S-1 «4 -100 -215.0 2150 G1 G201 64 O= ¢J -980 -256.0 256.0 [B105 B305 24 V= &2 -110 50 -50
C4 C204 3NS-1 v7 -100 -215.0 215.0( C2 C202 64 O= +J -980 -256.0 256.0 [F105 F305 24 V= &2 -110 50 -50
E4 E204 3NN-1 &5 -100 -215.0 215.0| E2 E202 64 O= &4 -980 -256.0 256.0| A3 A203 34 V= &2 -140 -380 38.0
G4 G204 3NN-1 #J -100 -215.0 2150| G2 G202 6v O= &9 -980 -256.0 256.0| C3 C203 24 V+1 &2 -140 -38.0 38.0
A5 A205 3NN-1 ¥5 -100 -2150 2150 A3 A203 6v V= 7 -980 -256.0 256.0| A6 A206 34 V= &2 -140 -38.0 38.0
E5 E205 3NN-1 #J -100 -215.0 215.0| C3 C203 64 O= +¢J -980 -256.0 256.0 (B101 B301 34 V= 2 -140 -38.0 38.0
E6 E206 3NN-1 6 -100 -215.0 215.0| G3 G203 64 V= ¢7 -980 -256.0 256.0 [H101 H301 3v O= &K -140 -38.0 38.0
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G6 G206 3NN-1 &J -100 -215.0 215.0| C4 C204 64 V= 7 -980 -256.0 256.0 |D103 D303 24 V+1 v5 -140 -38.0 38.0
B101 B301 3NN-1 #J -100 -215.0 215.0| G4 G204 6v O= 4J -980 -256.0 256.0 |H103 H303 34 V= &2 -140 -38.0 38.0
H101 H301 3NN-1 &K -100 -215.0 215.0| A5 A205 6v O= 49 -980 -256.0 256.0 [H104 H304 3«4 V= &2 -140 -38.0 38.0
D102 D302 3NN-1 &J -100 -215.0 215.0| C5 C205 64 V= &3 -980 -256.0 256.0 |H105 H305 34 V= &2 -140 -38.0 38.0
F102 F302 3NN-1 ¥6 -100 -215.0 215.0| A6 A206 64 O= ¢J -980 -256.0 256.0 |D106 D306 34 V= &2 -140 -38.0 38.0
H102 H302 3NN-1 ¥5 -100 -215.0 215.0| C6 C206 64 V= &6 -980 -256.0 256.0 |F106 F306 34 V= &2 -140 -38.0 38.0
B103 B303 3NN-1 ¥2 -100 -215.0 215.0| E6 E206 6y O= ¢J -980 -256.0 256.0 |H106 H306 34 V= &2 -140 -38.0 38.0
D103 D303 3NN-1 #J -100 -215.0 215.0 |F102 F302 64 V= #3 -980 -256.0 256.0 | E2 E202 34 V+1 &2 -170 -76.0 76.0
F103 F303 3NN-1 &J -100 -215.0 215.0 |D104 D304 64 O= ¢J -980 -256.0 256.0| C1 C201 3NV= ¥4 -600 -428.0 428.0
D104 D304 3NN-1 ¥5 -100 -215.0 215.0 |F104 F304 6v V= 48 -980 -256.0 256.0| G2 G202 3NV= 45 -600 -428.0 428.0
B105 B305 3NN-1 #J -100 -215.0 215.0 |[H104 H304 6y O= 49 -980 -256.0 256.0 |D101 D301 3NV= &2 -600 -428.0 428.0
D105 D305 3NN-1 #J -100 -215.0 215.0 |D105 D305 64 V= &7 -980 -256.0 256.0 (D102 D302 3NV = &2 -600 -428.0 428.0
F105 F305 3NN-1 «J -100 -215.0 215.0 |B106 B306 64 V= &6 -980 -256.0 256.0 |B106 B306 3NV = &5 -600 -428.0 428.0
D106 D306 3NN-1 #J -100 -215.0 215.0 |D106 D306 6v V= &7 -980 -256.0 256.0 [H102 H302 44 V= &2 -620 -444.0 444.0
F106 F306 3NN-1 &J -100 -215.0 215.0 |F106 F306 64 V= &3 -980 -256.0 256.0 |F104 F304 44 V= &6 -620 -444.0 444.0
H106 H306 3N N-1 #J -100 -215.0 215.0|B101 B301 6NV = &6 -990 -259.0 259.0( G3 G203 3NV +1 &2 -630 -444.0 444.0
H105 H305 44 S-2 &A -200 -322.0 322.0|B103 B303 6v V+1 #3 -1010 -285.0 285.0( C4 C204 3NV +1 &2 -630 -444.0 444.0
10 452 Basta kontrakt 11 a4 Basta kontrakt 12 4 K10843 Basta kontrakt
Ost v ED43 5NT S =660 Syd v 10874 44 V =-420 Vast v K84 4% V D -1 100
Alla + E85 Ingen + 96 NS +E76

#E854 & ¢ v o NT #KDKn873 & ¢ v o NT #EKnN & ¢ v & NT
4 D9643 4 EKN107 N 116 116 11 # DKn9853 4 K106 N8 56 3 4 46 & EDKNn92 N49 876
v1072 998 S 116 116 11 vD v EKn96 S 856 34 vDKn97 ¢10 S 48866
¢ Kn972 ¢ K643 027272 +Kn74 + ED85 O5 8 6 109 ¢ K104 82 09 4556
#10 #932 V27272 #E92 #106 V 58 6 109 #D9876 #K10532 V94556
& K8 & E72 a75
v KKn65 v K532 v E6532
+ D10 ¢ K1032 ¢ DKn953
#KDKn76 &54 &4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

Al A201 4v S+2 &T 680 113.0 -113.0| G4 G204 44DV -1 #K 100 443.0 -443.0 |H102 H302 3vyD S = 46 730 595.0 -595.0

A4 A204 4v N+2 v8 680 113.0 -113.0 |D106 D306 44 V-2 &K 100 443.0 -443.0| Al A201 54DV -243 300 344.0 -344.0

E5 E205 4v S+2 &T 680 113.0 -113.0| A2 A202 44 V-1 &K 50 391.0 -391.0| E4 E204 24D O -2#4 300 344.0 -344.0

A6 A206 4y S+2 &T 680 113.0 -113.0| G6 G206 44 V-1 &K 50 391.0 -391.0 ([B102 B302 5&#D O -247 300 344.0 -344.0

C6 C206 4y N+2 «T 680 113.0 -113.0 |B101 B301 44 V-1 #Q 50 391.0 -391.0 (B105 B305 5#D O -24Q 300 344.0 -344.0
H103 H303 4y N+2 «T 680 113.0 -113.0 |D104 D304 44 O-1 #3 50 391.0 -391.0 [F105 F305 2NN +1 «J 150 194.0 -194.0
F104 F304 4v S+2 &T 680 113.0 -113.0| A4 A204 3# N-1 #8 -50 321.0 -321.0 (D106 D306 3v S= 46 140 191.0 -191.0
H105 H305 4v S+2 &T 680 113.0 -113.0| G2 G202 34 V+1 &K -170 180.0 -180.0 |F106 F306 2v S+1 ¢3 140 191.0 -191.0

E3 E203 3N S +2 43 660 72.0 -72.0| C5 C205 24 O+2 &5 -170 180.0 -180.0| C2 C202 4¢ S= 45 130 182.0 -182.0

G3 G203 4NS+1 T 660 72.0 -72.0|D102 D302 24 V+2 &K -170 180.0 -180.0| E5 E205 2v S= &7 110 148.0 -148.0

Cl1 C201 5v S= «T 650 72.0 -72.0|H101 H301 4y N-4 «K -200 173.0 -173.0|B101 B301 2v S= 46 110 148.0 -148.0

E1 E201 4v N+1 ¢4 650 72.0 -72.0 |H105 H305 2N S-5 «5 -250 123.0-123.0|B103 B303 2v S= 46 110 148.0 -148.0

A2 A202 4v S+1 &3 650 720 -72.0| A3 A203 54DN-246 -300 37.0 -37.0|D103 D303 3¢ S= 46 110 148.0 -148.0

C2 C202 4y S+1 &T 650 72.0 -72.0| Al A201 44 O= &K -420 -97.0 97.0|H104 H304 2v S= &6 110 148.0 -148.0

E2 E202 4y N+1 v3 650 720 -72.0| C1 C201 44 V= &K -420 -97.0 97.0|H105 H305 2v S= 46 110 148.0 -148.0

G2 G202 4v S+1 &T 650 720 -72.0| E1 E201 44 O= &5 -420 -97.0 97.0|H106 H306 2v S= 46 110 148.0 -148.0

A3 A203 4y S+1 &T 650 720 -72.0| G1 G201 44 V= &K -420 -97.0 97.0| G2 G202 4#D O-147 100 144.0 -144.0

C4 C204 4v S+1 #6 650 72.0 -72.0| E2 E202 44 V= &Q -420 -97.0 97.0| E3 E203 54D O-1¢2 100 144.0 -144.0

E4 E204 4v S+1 #T 650 72.0 -72.0| C3 C203 44 V= &K -420 -97.0 970| G4 G204 INS= vQ 90 131.0 -131.0

C5 C205 4y S+1 &T 650 72.0 -72.0| E3 E203 44 V= &K -420 -97.0 97.0| G1 G201 14 N= T 80 122.0 -122.0

G5 G205 4v S+1 7 650 72.0 -72.0| G3 G203 44 V= &K -420 -97.0 97.0| E1 E201 4v S-1 46 -100 -77.0 77.0

E6 E206 4v N+1 v9 650 72.0 -72.0| C4 C204 44 V= &K -420 -97.0 97.0| A2 A202 3v S-1 #6 -100 -77.0 77.0

G6 G206 4y S+1 #T 650 72.0 -72.0| E4 E204 44 V= &K -420 -97.0 97.0| A3 A203 24 N-1 &2 -100 -77.0 77.0
B101 B301 4v N+1 v6 650 72.0 -72.0| A5 A205 44 V= &K -420 -97.0 97.0| C3 C203 3NN-1 «J -100 -77.0 77.0
D101 D301 4v S+1 #T 650 72.0 -72.0| E5 E205 44 V= &K -420 -97.0 97.0| G3 G203 3v N-1 «2 -100 -77.0 77.0
F101 F301 4y S+1 &T 650 72.0 -72.0| G5 G205 44 V= &K -420 -97.0 97.0| A4 A204 3v S-1 «6 -100 -77.0 77.0
B102 B302 4y N+1 v9 650 72.0 -72.0| A6 A206 44 V= &K -420 -97.0 97.0| A6 A206 3v S-1 46 -100 -77.0 77.0
F102 F302 4v S+1 &T 650 72.0 -72.0| C6 C206 44 V= &Q -420 -97.0 97.0|D101 D301 3v S-1 46 -100 -77.0 77.0
H102 H302 4v S+1 &T 650 72.0 -72.0| E6 E206 44 V= &K -420 -97.0 97.0|D102 D302 3¢ S-1 vQ -100 -77.0 77.0
B103 B303 4v S+1 &T 650 72.0 -72.0|D101 D301 44 V= &K -420 -97.0 97.0|H103 H303 3v S-1 46 -100 -77.0 77.0
D103 D303 4v S+1 &T 650 72.0 -72.0|F101 F301 44 V= &K -420 -97.0 97.0|D104 D304 3NN-1 «Q -100 -77.0 77.0
F103 F303 4y N+1 v9 650 72.0 -72.0|B102 B302 44 V= &K -420 -97.0 97.0|F104 F304 3NN-1 «J -100 -77.0 77.0
B104 B304 4v N+1 v2 650 72.0 -72.0 (F102 F302 44 V= &K -420 -97.0 97.0(B106 B306 3¢ S-1 46 -100 -77.0 77.0
D104 D304 4v S+1 #T 650 72.0 -72.0|H102 H302 44 V= &K -420 -97.0 97.0|H101 H301 3#O= ¢Q -110 -84.0 84.0
H104 H304 4v S+1 &3 650 72.0 -72.0|B103 B303 44 V= &K -420 -97.0 97.0|F102 F302 3#V= &A -110 -84.0 84.0
D105 D305 4y S+1 #T 650 72.0 -72.0|D103 D303 44 V= &K -420 -97.0 97.0| C1 C201 3#0O+1 ¢Q -130 -117.0 117.0
F105 F305 4v N+1 v9 650 72.0 -72.0|F103 F303 44 V= &K -420 -97.0 97.0| C6 C206 3#O+1 ¢J -130 -117.0 117.0
B106 B306 5v S= ¢5 650 72.0 -72.0 |H103 H303 44 V= &K -420 -97.0 97.0| E2 E202 4v S-2 46 -200 -195.0 195.0
D106 D306 4v S+1 #T 650 72.0 -72.0|B104 B304 44 O= 42 -420 -97.0 97.0| C4 C204 3NN-2 #J -200 -195.0 195.0
F106 F306 4v S+1 ¢7 650 72.0 -72.0|F104 F304 44 V= &K -420 -97.0 97.0| C5 C205 4v N-2 &5 -200 -195.0 195.0
H106 H306 4v N+1 v9 650 72.0 -72.0|H104 H304 44 V= &K -420 -97.0 97.0| G5 G205 4¢ S-2 46 -200 -195.0 195.0

G1 G201 54 S= 44 600 -10.0 10.0 ([B105 B305 44 O= &5 -420 -97.0 97.0( E6 E206 4v N-2 &2 -200 -195.0 195.0

C3 C203 6v S-1 43 -100 -545.0 545.0 |D105 D305 44 V= &K -420 -97.0 97.0|F101 F301 4v N-2 #3 -200 -195.0 195.0

G4 G204 6v S-1 ¢7 -100 -545.0 545.0 |F105 F305 44 V= &K -420 -97.0 97.0| G6 G206 3v S-3 46 -300 -295.0 295.0

A5 A205 6# S-1 47 -100 -545.0 545.0 |F106 F306 44 O= 42 -420 -97.0 97.0|D105 D305 4v N-3 #2 -300 -295.0 295.0
H101 H301 6v N-1 ¥9 -100 -545.0 545.0 |[H106 H306 44 V= &K -420 -97.0 97.0( A5 A205 4v S-4 4«6 -400 -381.0 381.0
D102 D302 6v S-1 &T -100 -545.0 545.0 |B106 B306 44 V+1 &K -450 -140.0 140.0 |F103 F303 3NS-4 #6 -400 -381.0 381.0
B105 B305 6v S-1 &T -100 -545.0 545.0| C2 C202 44D O= &5 -5900 -303.0 303.0 |B104 B304 1INS-4 &7 -400 -381.0 381.0
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